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General Instructions

» . Write using black or biue pen,
diagrams may be drawn in pencil

+ Calculators may be used.

« All necessary working should be

- shown in all questions if full marks
are to be awarded.

« MARKS MAY NOT BE AWARDED
FOR MESSY OR BADLY
ARRANGED WORK.

s Attempt all questions.

* Allanswers to be given in simpliﬁed'-
exact form, unless otherwise stated.
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Question. Answer.

1. What factor is common to 10x and 15y 7

2. Complete the following:
a) TxX’y—2x=...0M7x.......).
b)) 2x—10=i(x )

3. State whether each statement is True or False.
a) 4a2'— 20ab = —4a(—a-5b)

b) - +ab=a(b—a) |

Q) 3 (2x+5y)=—6x>+15xp -

4. Factorise:.

a) x(x+2)+5(x+2)
b) 3x(x~11)—4(x-11)

& B (x+y)—c(x+y)

5. Factorise then simplify:
" Em+in :

a)
10m+5n

18(mr + ms) \\;

Smr(r +5)

" 6. Find a pair of numbers whose:
a) Sumis-1 and productis -12.

b) Productis 12 and sum is 8.
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7. Factorise the following: -
2) ¥ +3x+2 7 i

©) 6x*—13x+5

Y
{

d) 14a2+4qa+35

/

C e wromatt

-’

3+3t 5t
+—
2 18 6 : Ce

23+ x—6 <
2x-3

8. Find the distance between A and B where Cav e GN\M w(‘){ﬂd j

ﬂa‘)wA_(S ). and,,B_(Z 6)\

b) A=(75) T B

N
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9. Find the mid-point of the lines joining e f?'ﬁowing co-ordinates:

2) A(4,5)B(6,3)
b) C(:8,-5) D(4,5)

¢) B(6,3) F(-8,5)

10. Write each equation in general form:

a) Sy=—10x+7

b) ~Ty=3z-21 . . ~ ‘
\ _

11. Write each equation in gradient-intercept fornix

a) Sx—y=6 -

b) 3x—4y=9

12. Find the gradieﬁf of the lines joining the following pairs of points:

) AGH BO) s
' v

b) C(9,-2) D(-3,4)
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““”*b)""Fmd‘the'equatron “ofﬂ:re Ime perpendlcular to AB, passing through the om,(_z;u:«r
. SE\A,QI ol {307

13. Write the equation of the vertical line through the point (6,-2). %
1 .
\
AN
14. Show that A(-1,3), B(O 5) and C(1,7) are co]JmearQ‘e entne came |4
- | H‘\.Q,)
;
15. G1ven points A(-4,7) and B(6,12):
a) Find the equat{on of the line AB, i grad 1€Mj_'_ \n—\-e\—-cep\—_&m—ﬁ_
3 ..
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16. PQR is a triangle with P=(3,4), Q=(3,-2) and R=(6,-2).

a) Plot the triangle on the Gartesian plane,(x,y number plane).

j A

b) Find the gradient of QP

c) Find the length of QP in simplest surd form. -

d) Find the co-ordinates of the mid-point of /QP.

e) Use the two-point formula ffo find the equation of the line Qp, m gradient-

. intercept Form. -

Yeargf ek Fadtorisation and Co-ord Geom

) jCa_lculate the area of A PQR

£) Determine the equation of the line'through the origin and perpendicular to
QP. (leave answer in general form)

Pa,ge Tof8
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Year 9 Test Factorisation and Co-ord Geom:

Question, J Answer.

1.

What factor is common o 10x and 15y? .~ \/

2.
2)
b)

Complete the following: \/
Txty—2x =.....’ﬂ§(7x87?2:..) v
~2x-10=,.2%(x.4.8.)

3.
2)
b)
°)

State whether each statement is True or False
4a® - 20ab=~4a(-a~5b) T ¢leg

—~a* +ab = a(b ~a) T(‘u e

332 (2 -+ 5y) = ~6x> +153y Fmt%@

4.
a)

b)

©)

Factorise:

3
s eseey G5 (o) \/

Bx(x-11) ~4(x~11) ngc 4/)(06‘” . /
- ) (x th)

B lx+y)—clx+y) <J3

nameA SOLUTIONS

Examiner: A.Ward
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2)

b)

Factorise then simplify: »
Gm+3n = 53 Cl)’h ‘i‘ﬂ:)
10m + 51 , ’ m
é :
5
1800 (r+5) - 18k

Gler_f—S) '0”\”\

-.._—

t

18(mr + ms)
mr (v +5)

e
—

b)

Find a pair of numbers whose:
Sum is -1 and product is ~12.

/z,z?;\/

Product is 12 and sum is 8.
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7. Factorise the following: : T 573 '_]_b_JC_
B QO T E R (DC-*‘L? CDC?‘ 3 / 2 ) 15 +6 “‘"‘] 3"“ s g
_ 418t
S WIB
b) #-3x+2 = (ot “7—DCDCJ 1>\/ ) u’%CH‘“‘gJV) - \;@1 o~
-2 \ ¢ - :
| 8 25" +%-6 23 ——336%%0@6
. , 2x-3 | (2%0(‘ QJ
¢ 6 j;rs = b ~|01)(, ~Bo¢ ¥5 ) < oL(Caot3) 12 (25~ %)
. -5 3 ot
B e - 5" (3o 290 =3
| 3y ~b_ ‘ Ger)Qoe3)
;("LDL«D (3x 5) / R
9a*-1_ 3a+6 o9
7 (2™ {D» +6’) B S 5 +5a 2 *Cga.,_l D_CBC‘L) Mg(a* ) :
d) l4d* +4G'a+35 75/ 3 C3¢HD 3& A 7 =)

=7 C’La +1a tha +lg’> = (X} (}/ 3659/{) \L
<7 CQMCCI 1) ¥ 5@ + .. | C% ; O(w ‘3@1@%"‘@‘@

s 7 Ger) G/ . 3 *(aA) ()

A ? . 8. Find the distance between A and B where: Qive, Weg OC*%j ,’7:
9 3v 1 4\/ 3V~ 5 % } 3 ' 8) A=(5,1) and B=(2,6 ' ' "

- 3
DRI JE?E/TCTTT o

U ‘ b) A=(-7,5) and B=(6,-3) “7' N @"1- NGy 43)% —

< (v D) ‘ A m/

&+
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9. Find the mid-point of the lines joining tlfe fi ﬁowiug co-ordinates;
a) A(4,5) B(6,-3) (5‘ } '> : / 2"
2 .

b) C(-8,-5) D(4,5)' <~2 ., o)

¢) E(6,-3) F(-8,-5)

(=) 2

AN

13, Write the equation of the vertical line through the point (6,-2).

z =6

S

10, Write each equation in general form:

a) Sy=—10x+7

lox 45757

b) —7y=3x-21

3x +7j'~2/=0

\// |

2,

4:

11. Write each equation in gradient~ititercept form;:

14. Show that A(-1,3), B(0,5) and C(1,7) are co_llinearQ\e enthe gagme

. L)j 5-3 hiney
mot . @07 =
= ,?/ = 2
' B 7...,.5
moof b= - =
-y 2,. :1
!
B s opllmear 4 BC (Sam Sm'&l‘w
- b osae R as

2] J@D?‘\ﬂ% )

}

a) Sx—y=6 - JC wab% 2
B) 3x—dp=9 T FBN 9 2 é%
3 ]
= 2 - byt
== §%-"12y
12. Find the gradiexit of the :1ines joining the followiné pairs of points:
D AGH BOD , — 9-7 |2

L -3
- & /
3 - L
b) C(9,-2) D(-3,4) T T2 2
NQ_ -
7473 ’ /
L o8, -= ‘
- 2 |

15. Given points A(4,7) and BG,12): ,
a) TFind the equation of the line AB, i Bradﬁm'\rﬁtrcep\‘ {om
’ ,.B‘:Z Y =05+

7= 1L b «—
- 15 =4

w of ol <47

o

b) Find the equation ¢f the line perpendicular to AB, passing through the origiJJ)—

e oenerodl —?mfvv\
2z

&{mr\\l’/\‘l’ @{‘ I}M =7

)20c+8)+]oﬂ©
o152 0
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16. PQR is a triangle with P=(3,4), Q=(-3,-2) and R—(6,-2).

_8) Plot the triangle on the Gartesian plane,(x,y number plane),

v‘l&/a‘l

Q 63):1)‘ ¢ A

b) Find the gradient of QP

c) Find the length of QP in simplest surd form.

Jeve™
=70 = 6l

d) Find the co-ordinates of the mld—p?}P

Va

&) Use thd two-point formula fto find the equation of the line QP, in gradient-
intercept form. -

*% - Xy
x - X1

Yoy
4-# x -3

By T 3-3

) alculate the area of APQR 2
@Q é 3 9 f)
' P
a/nea = L x9cb = 2 7 wats
. g) Detetmine the equation of the line through the origin and pclpe_ndicul ar to 3

QP. (leave answer in general fonn)

cuk~af QP o =
%%%MW@E)

_“‘.‘Z?“' o Y=0 =l (-9

6 (4-4), = -6 (x-3)
fo- o X -
‘j = A+ |
| Page7of8.
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